Question 2: Which of the following is NOT a
differential equation?
(a) y' =3y
b) 227y +y* =
(c) txdt =2
)
)



Question 1: What is the order of the
following differential equation?

& du\’
d:z;b | (_u) + 4usin(z) = 0

-\ dx

A) 1 B) 2 C) 3 D) 4 E) Impossible to say



Question 3: Which of the following can NOT
represent the solution of a differential equation?

(a) | (b)
3t /] 2 o =
2 § —— // 1 <
1 / et 1 D

- 0 | / | % 0 I // /
/ g
-1r / J (
// '_\‘\\\ 4 / -1t \\\
2F A S 4
/ .
-3 / e '2 :ﬂ_/._»"’ff
(c) (d)
5 F T T T T
-y 3\
Ty 2} \
I\ b\
> 0 e = 0 M Y
\‘\\ - 1 \
.ll \\
'\\\\ R 2
- . \ /
—5 3 L 1 1 ‘\-]/
5 0 5 4 -2 0 2 4



Question A: What does the differential
equation y =2y tell you about the slope of

the solution curves at any point?
(a) The slope is always 2.

(b) The slope is equal to the x-coordinate.

(c) The slope is equal to the y-coordinate.

(d) The slope is equal to two times the x-coordinate.
(e) The slope is equal to two times the y-coordinate.
(

f) None of the above.



Question B: The slope field below indicates
that the differential equation has which form?
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Question C: The slope field below indicates

that the differential equation has which form?

y’=f(t)
y'=t(y)

A
B
C.
D
E

pj—

f(ty)

y

.None of the above.

.We don’t have enough
information to answer

A

e B K
e Be K
,.M///
LN A
L B %
R
T
A
A
¥ o
¥
_\A\

o
L e

NN R R R e e S
Mo B M sl A e

X
N

# -
A
A4
lod
T
;of
g

_
DRy BN W RGN

WORG R, SRR

_.—/-//‘

NN N T —

Vs

Yol BulBy
NN
X U ey
IR
R
IR
E B
Z ok il
Iy Y
2
\\\\\.‘\m\

—_— /' / )/

NN e e —

Vs

ST NG TR TN N

N NN N NN

— = S

NN T e —

v

W RN G

NN N N N W

e

—_— S

NN N e —

i

AT L A N R

'
e S g .

ol el Mo TRy e SR s Dot o

// / //

S G S BRI SANSR we Galle Lo Lk @ e Zesamsce
: '
SO O L S SO e R S A T e A

: '
o ot o o o ol o e e e - o€ o e o e

I

//,/,,m;
e W
///,M/
///,,m.f
VA
b
Ll
A
i LA
PV ARV AR §
DA L
Al A
# s el A

-
5

T BN T

.
e ot - e -
1

Ty’

L
o
A

K9]



DEs

ing

Which of the follow

Question 1

would generate the slope field?
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Question 2: Which of the following DEs

would generate the slope field?
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Question 3: Which of the following DEs
would generate the slope field?
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Question 4: Which of the following DEs
would generate the slope field?
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Question 5: Which of the following DEs
would generate the slope field?
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A.y'=1/x
B.y'=1ly
C.y’=exp(-x?)
D.y'=y2-1
E.y'=(x+y)/(x-y)
F. y'=sin(x)sin(y)



Question 6: Which of the following DEs
would generate the slope field?

e . A.y'=1/x
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